Energy Flow in Ecosystems - 2

Directions: Read through each question ¢ find the correct answer in one of the 3 columns below. Shade in the

answer box with the color given € then color the picture on the next page accordingly.

*If the color is white, just circle the answer.

Question

Answer
Choice A

Answer
Choice B

Answer
Choice G

Which of the following is a 3 level consumer?

;Sﬁ Carrots B{érasses ?Q Grains

5 B C D
Color PURPLE Color YELLOW Color PINK
Lizard
Roadrunner
Coyote ¥
|6 M grasshopper scorpion rabbit
Color ORANGE Color WHITE | Color LIGHT BLUE
Rahhi\t ‘%smhnpfcr—l" Scorpion
|
Girass Cactus
- herbivores OMNIVOres carnivores
5
What are consumers that eat only animals’ Color GREEN Color DARK BLUE Color RED
If there are 1,000 kilocalories of energy available at the
producer level, how much energy will be available at the 3rd
consumer level?
Ie | kcal 10 keal 100 keal
Color LIGHT BLUE Color BLACK Color GREEN
Iq An organism that obtains energy by feeding on other producer consumer decomposer
organisms is @ Color ORANGE Color BROWN Color PURPLE
Identify the producers in the food web below.
E“b\{“ Foxes Owls
j i Birds
] = '\]z‘*\ Q}- robbits, mice ¢ | carrots, grasses | foxes, owls £
20 g/if_gibb"s M'C Gr""Ss’h"p':’e/' grasshoppers ¢ grains birds
S N / Color RED Color WHITE Color BLACK
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